106 Exam 

The following table contains the test Scores of 40 students in a Biostatistics class:
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	50 – 59

60 – 69

70 – 79

80 – 89

90 - 99
	4

5

18

7

6
	54.5

64.5

74.5

84.5

94.5
	218

322.5

1341

291.5

567
	2970.25

4160.25

5550.25

7140.25

8930.25
	11881

20801.25

99904.5

49981.75

53581.5
	872

1612.5

24138

4140.5

3402

	
	40
	372.5
	3040
	28751.25
	236150
	34165


From the information summarized in this table we can say that:

1) The mean score of those students

a) 76


b) 9.31


c) 8.16


d) 77.18

2) The variance score of those students

a) 11.45

b) 51.87

c) 311.03

d) 131.03
3) The range 

a) 14


b) 40


c) 31


d) 41

4) The Coefficient of variation of those students

a) 0.172 

b) 0.580

c) 0.151

d) 0.148

5) If we add 5 marks for all scares above then the stander deviation become

a) 136.03

b) 131.03

c) 11.45

d) 16.45

******

A statisticians measured the body fat (in cm) for a sample of 40 healthy men and obtained
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6) The mean of the body fat

a) 37.29

b) 73.29

c) 29.6


d) 26.9

7) The standard deviation of the body fat

a) 7.59


b) 57.63

c) 5.94


d) 9.57

8) The Coefficient of variation of the body fat

a) 0.256

b) 0.389

c) 3.9


d) 0.652

9) The test score result (above question) is ---------- dispersion from the body fat

a) equal

b) more

c) less


d) can not decide

_1035832458.unknown

_1035832488.unknown

_1193601282.unknown

_1193601311.unknown

_1035832471.unknown

_1035832427.unknown

_1035832444.unknown

_1035832294.unknown

